09/22/06 09:32:13

Election Summary Report 2006 PRIMARY ELECTION, YAVAPAI COUNTY, AZ Summary For 92-Big Chino, All Counters, All Races OFFICIAL FINAL RESULTS

_____]

Registered Voters 1055 - Cards Cast 290 27.49%

Num. Report Precinct 1 - Num. Reporting 1 100.00%

US SENATOR (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	69/195	35.4 %
Total Votes	65	
PEDERSON, JIM	65	100.00%
Write-in Votes	0	0.00%

US SENATOR (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	215/528	40.7 %
Total Votes	196	
KYL, JON	195	99.49%
Write-in Votes	1	0.51%

US SENATOR (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	6/10	60.0 %
Total Votes	6	
MACK, RICHARD	6	100.00%
Write-in Votes	0	0.00%

US REP 1 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	69/195	35.4 %
Total Votes	63	
CACCIOPPOLI, MIKE	5	7.94%
DONAHUE, BOB	10	15.87%
FRIEDMAN, SUSAN	17	26.98%
MCKERLIE, VIC	11	17.46%
SIMON, ELLEN	19	30.16%

Write-in Votes	1	1.59%
US REP 1 (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	215/528	40.7 %
Total Votes	190	
RENZI, RICK	189	99.47%
Write-in Votes	1	0.53%
US REP 1 (LBT)	LBT Total	
Number of Precincts	1	
		100.0 %
Precincts Reporting Vote For	1	100.0 %
	1	
Times Counted	6/10	60.0 %
Total Votes	6	
SCHLOSSER, DAVID	6	100.00%
Write-in Votes	0	0.00%
GOVERNOR (DEM)	DEM Total	
Number of Precincts		
	1	100.0 %
Precincts Reporting Vote For	1	100.0 %
Times Counted	69/195	35.4 %
Total Votes	66	
NAPOLITANO, JANET	64	96.97%
Write-in Votes	2	3.03%
GOVERNOR (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	215/528	40.7 %
Total Votes	203	
GOLDWATER, DON	91	44.83%
HARRIS, MIKE	9	4.43%
MUNSIL, LEN	88	43.35%
TUPPER, GARY Write-in Votes	13 2	6.40% 0.99%
write-iii votes	۷	0.99%
	I DT	
GOVERNOR (LBT)	LBT	

GOVERNOR (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	6/10	60.0 %

Total Votes	5	
HESS, BARRY J., II	5	100.00%
Write-in Votes	0	0.00%

STATE SENATOR 1 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	69/195	35.4 %
Total Votes	62	
KELLEHER, JO	60	96.77%
Write-in Votes	2	3.23%

STATE SENATOR 1 (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	215/528	40.7 %
Total Votes	201	
O'HALLERAN, TOM	94	46.77%
STOLL, WILLIAM	83	41.29%
TOWNSEND, ELISE	24	11.94%
Write-in Votes	0	0.00%

STATE SENATOR 1 (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	6/10	60.0 %	
Total Votes	1		
Write-in Votes	1	100.00%	

STATE REP 1 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	2	
Times Counted	69/195	35.4 %
Total Votes	61	
EDMONDS, WESLEY	58	95.08%
Write-in Votes	3	4.92%

STATE REP 1 (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1 100.0 %	
Vote For	2	

Times Counted	215/528	40.7 %	
Total Votes	298		
CAMPBELL, NOEL	40	13.42%	
DETWILER, BRYAN	63	21.14%	
MASON, LUCY	112	37.58%	
TOBIN, ANDY	83	27.85%	
Write-in Votes	0	0.00%	

STATE REP 1 (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	2		
Times Counted	6/10	60.0 %	
Total Votes	0		
Write-in Votes	0	N/A	

SEC OF STATE (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	69/195	35.4 %
Total Votes	59	
TORRES, ISRAEL	57	96.61%
Write-in Votes	2	3.39%

SEC OF STATE (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	215/528	40.7 %
Total Votes	180	
BREWER, JAN	179	99.44%
Write-in Votes	1	0.56%

SEC OF STATE (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	6/10	60.0 %
Total Votes	6	
HANCOCK, ERNEST	6	100.00%
Write-in Votes	0	0.00%

ATTORNEY GENERAL (DEM)	DEM
ATTORNET GENERAL (DEM)	Total
Number of Precincts	1

Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	69/195	35.4 %	
Total Votes	63		
GODDARD, TERRY	62	98.41%	
Write-in Votes	1	1.59%	

ATTORNEY GENERAL (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	215/528	40.7 %
Total Votes	179	
MONTGOMERY, BILL	178	99.44%
Write-in Votes	1	0.56%

ATTORNEY GENERAL (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	6/10	60.0 %	
Total Votes	0		
Write-in Votes	0	N/A	

STATE TREASURER (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	69/195	35.4 %
Total Votes	58	
SINGH, RANO	55	94.83%
Write-in Votes	3	5.17%

STATE TREASURER (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	215/528	40.7 %
Total Votes	182	
MARTIN, DEAN	181	99.45%
Write-in Votes	1	0.55%

STATE TREASURER (LBT)	LBT
	Total
Number of Precincts	1
Precincts Reporting	1 100.0 %

Vote For	1		
Times Counted	6/10	60.0 %	
Total Votes	0		
Write-in Votes	0	N/A	
SUPT OF PUB INST (DEM)	DEM		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	69/195	35.4 %	
Total Votes	60		
MEAD, SLADE	23	38.33%	
WILLIAMS, JASON	37	61.67%	
Write-in Votes	0	0.00%	

SUPT OF PUB INST (REP)	REP		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	215/528	40.7 %	
Total Votes	178		
HORNE, TOM	178	100.00%	
Write-in Votes	0	0.00%	

SUPT OF PUB INST (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	6/10	60.0 %	
Total Votes	0		
Write-in Votes	0	N/A	

ST MINE INSP (DEM)	DEM		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	69/195	35.4 %	
Total Votes	3		
Write-in Votes	3	100.00%	

ST MINE INSP (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	215/528	40.7 %

163	
80	49.08%
83	50.92%
0	0.00%
	80

ST MINE INSP (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	6/10	60.0 %	
Total Votes	0		
Write-in Votes	0	N/A	

CORP COMM (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	2	
Times Counted	69/195	35.4 %
Total Votes	69	
BOYER, RICHARD	42	60.87%
MANOIL, MARK	25	36.23%
Write-in Votes	2	2.90%

CORP COMM (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	2	
Times Counted	215/528	40.7 %
Total Votes	242	
MAYES, KRIS	125	51.65%
PIERCE, GARY	117	48.35%
Write-in Votes	0	0.00%

CORP COMM (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	2		
Times Counted	6/10	60.0 %	
Total Votes	5		
FOWLKES, RICK	5	100.00%	
Write-in Votes	0	0.00%	

COUNTY SCH SUPT (DEM)	DEM
	Total
Number of Precincts	1
Precincts Reporting	1 100.0 %

Vote For	1		
Times Counted	69/195	35.4 %	
Total Votes	2		
 Write-in Votes	2	100.00%	
COUNTY SCH SUPT (REP)	REP		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	215/528	40.7 %	
Total Votes	178		
CARTER, TIM	178	100.00%	
 Write-in Votes	0	0.00%	
COUNTY SCH SUPT (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	6/10	60.0 %	
Total Votes	0		

Write-in Votes	()
----------------	---	---

CLERK SUPERIOR COURT (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	69/195	35.4 %
Total Votes	3	
Write-in Votes	3	100.00%

N/A

CLERK SUPERIOR COURT (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	215/528	40.7 %
Total Votes	179	
HICKS, JEANNE	143	79.89%
MEDDAUGH, WAYNE	36	20.11%
Write-in Votes	0	0.00%

CLERK SUPERIOR COURT (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	6/10	60.0 %

Total Votes	0	
Write-in Votes	0 N/A	A

JP PRESCOTT 1 (DEM)	DEM		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	69/195	35.4 %	
Total Votes	1		
Write-in Votes	1	100.00%	

JP PRESCOTT 1 (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	215/528	40.7 %
Total Votes	177	
MARKHAM, ARTHUR	176	99.44%
Write-in Votes	1	0.56%

JP PRESCOTT 1 (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	6/10	60.0 %	
Total Votes	1		
Write-in Votes	1	100.00%	

CONSTABLE PRESCOTT 1 (DEM)	DEM		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	69/195	35.4 %	
Total Votes	4		
Write-in Votes	4	100.00%	

CONSTABLE PRESCOTT 1 (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0~%
Vote For	1	
Times Counted	215/528	40.7 %
Total Votes	184	
IEMMEN, TERRY	81	44.02%
WATSON, JOHN E.	103	55.98%

Write-in Votes	0	0.00%	
CONSTABLE PRESCOTT 1 (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	6/10	60.0 %	
Total Votes	0		
Write-in Votes	0	N/A	

JUDGE SUPERIOR COURT 1 (DEM)	DEM		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	69/195	35.4 %	
Total Votes	2		
Write-in Votes	2	100.00%	

JUDGE SUPERIOR COURT 1 (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	215/528	40.7 %
Total Votes	170	
MACKEY, DAVID L.	170	100.00%
Write-in Votes	0	0.00%

JUDGE SUPERIOR COURT 1 (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	6/10	60.0 %	
Total Votes	0		
Write-in Votes	0	N/A	

JUDGE SUPERIOR COURT 2 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	69/195	35.4 %
Total Votes	0	
Write-in Votes	0	N/A

JUDGE SUPERIOR COURT	2	(REP)
----------------------	---	-------

Total

Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	215/528	40.7 %	
Total Votes	176		
BRUTINEL, ROBERT	175	99.43%	
Write-in Votes	1	0.57%	

JUDGE SUPERIOR COURT 2 (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	6/10	60.0 %
Total Votes	0	
Write-in Votes	0	N/A

JUDGE SUPERIOR COURT 3 (DEM)	DEM		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	69/195	35.4 %	
Total Votes	0		
Write-in Votes	0	N/A	

JUDGE SUPERIOR COURT 3 (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	215/528	40.7 %
Total Votes	169	
STERLING, JANIS ANN	169	100.00%
Write-in Votes	0	0.00%

JUDGE SUPERIOR COURT 3 (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0~%	
Vote For	1		
Times Counted	6/10	60.0 %	
Total Votes	0		
Write-in Votes	0	N/A	

JUDGE SUPERIOR COURT 5 (DEM)	DEM
	Total
Number of Precincts	1
Precincts Reporting	1 100.0 %
Vote For	1

Times Counted		69/195	35.4 %	
Total Votes		0		
Write-in Votes		0	N/A	
JUDGE SUPERIOR CO	OURT 5 (REP)	REP		
		Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	
Vote For		1		
Times Counted		215/528	40.7 %	
Total Votes		172		
KIGER, WILLIAM		172	100.00%	
Write-in Votes		0	0.00%	
JUDGE SUPERIOR CO	OURT 5 (LBT)	LBT		
		Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	

Vote For Times Counted Total Votes	1 1 6/10 0	100.0 % 60.0 %	
Write-in Votes	0	N/A	

JUDGE SUPERIOR COURT 6 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	69/195	35.4 %
Total Votes	0	
Write-in Votes	0	N/A

JUDGE SUPERIOR COURT 6 (REP)	REP		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	215/528	40.7 %	
Total Votes	170		
LINDBERG, THOMAS	170	100.00%	
Write-in Votes	0	0.00%	

JUDGE SUPERIOR COURT 6 (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	6/10	60.0 %
Total Votes	0	

Write-in Votes	0	N/A